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Chapter 3: 3-3 Lines (IC/HW) -Days 1 & 2 Date: (/ Period:

Sketch the line through A and B, and find its slope m.

1. A(-3, 2), B(S, -4) 2. A(2,5), B(-7, 5) 2 A(—3, 2), B(—3, 5)
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Use slopes to show that the points are vertices of the specified polygon.

4. A(-3, 1), B(5, 3), C(3, 0), D(-5, -2); parallelogram

5. A(6, 15), B(11, 12), C(-1, -8), D(-6, -5); rectangle
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6. If three consecutive vertices of a parallelogram are A(-1, -3), B(4, 2), and C(-7, 5), find the fourth vertex.
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7. Sketch the graph of y=mx for the given values of m.

m=3,-2,2/3,-1/4

8. Sketch the graph of the line through P for each value of m.

P(3,1); m=%,-1,-1/5

9. Sketch the graphs of the lines on the same coordinate plane.

y=x+3, y=x+1,

y=-x+1

10. Find a general form of an equation of the line through the point A that satisfies the given condition.

A(5, -2) (a) parallel to the y-axis

11. A(5, -3); slope -4

N=-HRr b
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12. A(4, 0); slope -3
Y= =B +b
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(b) perpendicular to the y-axis

13. A(4, -5); through B(-3, 6)

m=_b-(-5) _ /1
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14.  A(2, -4); parallel to the line 5x — 2y = 4 15. A(7, -3); perpendicular to the line
2x—5y =8
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Find the slope-intercept form of the line that satisfies the given conditions.
(4,0)
16. x-intercept 4, y-intercept -3 17. through A(5,2) and B(-1, 4)
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Find a general form of an equation for the perpendicular bisector of the segment AB.
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Use the slope-intercept form to find the slope and y-intercept of the given line, and sketch its graph.

20. 2x=15-3y 21. 4x—3y=9
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Find an equation of the line shown in the figure.

22. (a) \ (b) = ,1/2 (c) :-3/2 [ (d) m=-1 ‘\\
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24. Suppose a major leaguebaseball player has hit 5 more home runs in the first 14 games, and he keeps up
this pace through.oy"gthe/162-game season.

(a) Expressthe number of y home runs in terms of the number of x games played. ‘\) =MA
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(b) How many home runs will the player hit for the season?

e -y ) { Cherge in ¥ ﬁ/ju;’v;m
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25. A baby weighs 10 pounds at birth, and three years later the child’s weight is 30 pounds. Assume that
hildhood weight W (in pounds) is linearly related t ti : 2
C o} g (inp ) A rly related to age t (in years) (G) 39)) (3) _-;o)

=mt +b

(a) Express W in terms of t. M:M .20
=0 2

(b) What is W on the child’s sixth birthday?

W= Z46) +10 ;

(c) At what age will the child weigh 70 pounds?

70:Zer0 5 (629 years)



26. A college student receives an interest-free loan of $8250 from a relative. The student will repay $125 per
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month until the loan is paid off.

(a) Expressthe amount P (in dollars) remaining to be paid in terms of time t (in months).
V=mt +b
(b) After how many months will the student owe $50007? ( )7 = -125& 4 825&
i

-j256 +8250= 5000
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